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) 1. 774 ~—ikil& (kg) @ 1. 774 ~v—i%it&E (ke
= (EE h(m) X2+1E b(m)) X10(m) X BALEFEY 0 &3 (ke/m?) = (&S h(m) X2+1Eb(m)) X10(m) X BALEFEY v &3 & (ke/m?)
(£735) BALmFEY Y RF&E 0. 10~0. 25kg/m” (%) BArmfEY Y aXF&E @ 0. 10~0. 25kg/m’
2. FHEMHFHE (ko) 2. FEMEREHE (ko)
= (S h(m) xifEb(m)) X10(m) X EALAEFEY 0 %3 & (kg/m®) = (X h(m) XEb(m)) X10(m) X HALHIREY Y 255 (ke/m®)
(3%) BALRFEY Y 3E&E : 1, 350~1, 800kg/m ® (%) HALHEY VY RFE : 1, 350~1, 800kg/m *
[FTIEERT]
() 1. I w—EtE ke) . GFEE h(m) X241 b(m)) X10(m) X AL mAEY Vet &, (%) B
ALEREY O RHEORN Tkg/m?®) % Tkg/m?) 12, 2. FBEMHFHE (kg). (RS h(m) X#Eb(m)) X10(m)
XHEAEFEYS Y . (BFB) BALEEY 0 2 BRI E T,
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